/ Drawing Graphs Past Paper Questions (MS)

(a) 3979 2 B2for3.7.11.13
11.13 (B1 for 2 or 3 correct values)
(b) Graph drawn 2 M1 (may ft from (a) if B1 awarded) for at least 5 points
correctly plotted

Al for correct graph fromx=0tox=35

(a) 10, 8, (6), 4.2, 2 B2 for fully correct table
(0) (B1 for 2 or 3 entries correct)
(b) line drawn 2 B2 for correct straight line between x =—1 and x
=4
(B1 for a single straight line which passes
through (0, 8)
or for a single straight line with negative
gradient -2
or for at least 5 points from their table plotted
correctly)
Q3.
(a) x[2]-1]o]1]2]3[4 2 |B2cao
yl{=2lol2]4]6]8[10 (B1 for any 2 correct values)
(b) Correct graph 2 B2 for a correct line through at
least two correct points
(B1 for correct points plotted ft
their table if at least B1 earned in
part a)
b
2
14
12
10
8t
&

GCSEMathsRevision.com



(@) x|-2|-1[0]1]2]3]4 2 |B2cao
0 [2]4 g |10 (B1 for any 2 correct values)

(D) 2 B2 correct line through at least

EEREE O 2 correct points
{B1 for correct points plotted or
ft from their table if at least B1
earned in part (a))
y
14
12
10
8
6
4

Q5.

(@) 2, (1), 4,7, 10, 2 | B2 for 4 values correct

(13) (B1 for 2 or 3 values correct)
(b) 2 | M1 for plotting at least 5 of their
Single line from points correctly
(-2, -2) 10 (3, 13) OR

single straight line with positive
gradient passing thro' (0,4) from x
=-2tox=3

OR

single straight line of gradient 3
fromx=-2tox=3

OR

correct straight line that passes
through 3 correct points

A1 cao for correct straight line
from at least (-2.-2) to (3,13)

GCSEMathsRevision.com



Q6.
(a) (-2) -1.5 - | B2 for a fully correct table
1 [B1 for 2 or 3 correct entries)
-0.5 (0) 0.5
(b) Correct hine | M1 for correctly plotting at least 5 of thewr points (prowvided
B1 scored in part (a)) or for a straight line with gradient
0.5 or for a strmght line through (0,—1) with a positive
gradient
Al for a correct line between x =—2 andx =3
(c) 26 B1 for answer in the range 2.5 to 2.7 or ft a single straight line
with positrve gradient
Q7.

-1

=7

-5

Straightline from 4 (Table of values)
3] (-2,-T)to(3.3)

C1 for axes scaled and labelled

M1 for at least 2 correct attempts to find
points by substituting values of x

M1 ft for plotting at least 2 of their points
{anv points pleotted from their table must be
plotted correctly)

Al for correct line betweenx =—2 and x =3

(™o table of values)

C1 for axes scaled and labelled

M1 for at least 2 correct points with no more
than 2 incorrect points

M1 for atleast 2 correct points {and no
incorrect points) plotted OR line segment of
¥y=2x-3 drawvn

Al for correct line betweenx =—2 and x=3

(Use of y = mx+c)

C1 for axes scaled and labelled

M1 forline drawn with gradient of 2 OR line
drawn with a y intercept of -3

M1 forline drawn with gradient of 2 AND
with a y intercept of -3

Al for correct line betweenx =—2 and x =3

SC :B2 for the comrectline fromx=0tox =
3
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Q8.

2 drawn

-1

B1 for axes scaled and labelled

(Table of values)

M1 for at least 2 correct attempts to find
points by substituting values of x

M1 ft for plotting at least 2 of their points
(any points from their table must be correctly
plotted)

Al for correct line between x=-2 and x=2

(No table of values)

M1 for at least 2 correct pomts with no more
than 2 incorrect points

M1 for at least 2 correct pomts (and no
mncorrect points) plotted

OR line segment of y = 3x + 2 drawn

Al for correct line between x=-2 and x=2

(Use of y = mx + ¢)

M1 for hine drawn with gradient of 3 OR line
drawn with y intercept at 2

M1 for hine drawn with gradient of 3 AND
with y intercept at 2

Al for correct line between x=—2and x =2

SC B2 (indep of B1) for correct line segment
between x =0 and

x = 2 (1gnore any additional incorrect line
segment(s))

Qo.

@

(b)

5.4,(3.2, 1, 2 M1 for 1 or 2 or 3 correct entries
(D) Al cao
Line drawn 2 M1 plots 5 of their pomts correctly or a straight line with

gradient —1 or a straight line through (0. 4)
Al correct hine betweenx=—1 andx =4
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